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BACHELOR’S DEGREE PROGRAMME
Term-End Examination

June, 2013

ELECTIVE COURSE : ECONOMICS
EEC-06 : PATTERNS OF ECONOMIC
DEVELOPMENT : A COMPARATIVE STUDY
Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note : Attempt questions from each section as per instructions
given under each section.

SECTION-A
Long Answer Questions

Answer any tfwo questions in about 500 words

each : 2x20=40
1.  Why did Modern Economic Growth originate in

England ? Analyse why this rapid growth was

limited only to the present day developed

countries and did not spread in equal measure to

the presently developing countries ?

2. Describe the characteristics of stages of growth
in Rostow’s theory. What are its main
criticisms ?

3.  What are the economic reasons for Japan’s
military defeat in the Second World War ? How
did Japan finance its war time expenditure ?
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4. What are the basic elements of Centralised
Planning ? Give a brief account of the debate on
planning versus market.
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SECTION-B
Medium Answer Questions
Answer any three questions from this section in
about 250 words each : 3x10=30
5. Explain Simon Kuznet’s notion of Modern
Economic Growth.

6. Define the following terms ;
(@) Net barter terms of trade
(b)  Gross barter terms of trade

(c) Income terms of trade

7.  Briefly describe the salient features of the

unbalanced growth model.

8. Provide a brief critique of Hicks’s theory of
economic history. ~

9.  Was the colonial Indian economy a capitalistic

one ? Justify your answer.
10. Mention any three of the proposition on which

Gerschenkron based his theory of “Stages of
development” ?
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SECTION-C
(Short Answer Questions)
Answer both questiohs of this section as directed
11. Write notes on any three of the following in about
100 words each : 3x5=15
(a) Indicative planning
(b) Market failure
(c)  Accumulation of capital
(d) Revolution
(e) Indebtedness

~—~—

12. Briefly define any five of the following : 5x3=15
(a) Scissors crisis
(b) Economic Concentration
(c) Triangular trade
(d) Cartel
(e) Imperialism
(f)  Wage goods
(g) Surplus product
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